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W/S AA4-16 Complete the Square Practice

The standard form equatic;n of a circle is (x —h) +(y—~k)* =r" where the center is at (4, k) and
the radius is 7. : ‘

1) These circles are in standard form. Find the center and radius of each.

Equation Center . Radius
a) (x+3) +(y+10)> =64 (-3 -0 K
b) (=7 +(y-1 =8l (7,1) 9
9 (-4 +) =1 (4,0) |
2) Write the standard form equation of the circle with the given center and radius.
Equation 7 - - Center ' - Radius
D (XH2) 1 ly=-7) =16 (12,7) !

2 7
0 Oc=5) gl =49 oo 7
O Xtdlys)=q | o9 z

./ - )

3) These circles are in general form, so they “look bad”, but they're “all there”. Factor the left side (Ewice)
and write in standard form, Then find the center and radius.

Equation _
a) x2“10x+25+y2+4y+%=100 Center: 5
N2 e ___)
(x-5) --l—[b+2,) =[00 (5, ‘
Radius: 10

b) x*+8x+16+y" 20y +100=4 c?lt;r:)
T S\ . d

(X+Y) +(y-10)=Y - /

7 - Radius:

o) ¥} —-22x+121+y" -2y +1=25 Center:

(-1 +(y-1)-25 . ””5)

Center:

dy x?+20x+3°+2y+101=25
1(-10,-1)

(D) T (g =25 |
The 10° ad 1° wee embind in 10, | 5




4) These circles are in general form, but theyre NOT QUITE “all there”. Determine what's missing and

adjust the equation. Then continue as in #3.

a) X %8x+14+y +20y+99=22 erful )1:2[_ Center:
beti)=a-t @) 1222 IS (1))
/6 UU: [0 “;0? Radius:
O/)/u‘},l, I"} S0 1 neal ngﬁ_ e 5
b) x +161+60+y +6y+7=19 ' | Genter:
(<t§) - Lj+ (3#3) Zw/‘? (-8,-3)
x fg) g3 _75 e
) x° —20x+90+y2 10y+24 = llg. Center:
(x 10) 10 +(4-5) }:71&%9 .SId-O/-@
(x - IO) %(9 5) =1z /)
dy x° +61+J) +12y = , CCente;: ,,é)
CX+5) -1 1 jSé) 26=17 K
36 Radius:
O3V (g1 =gy g

5) This process of adjusting the equation so the left side contains two PERFECT SQUARES is called

Completing the Square. Here are a few more:

:?u2251“6x+ 410y =2 Cen_ter: d) x-10x +y +16y = —8 Center:
(X +3)=G+y125=2 (575)| (x —5) =25 185604 (5,°5)

7 Z - Radtus: Radius:

(x+3) "y #5)=36 [ (5-5)"° (y )= 38\ 9

1By x*+12x+y* + 2j =12 Center: e) x’ +6x + 32 +14y = Center:
[ t6) g o= 1z | C8D | fr)=q Jr(gyr?) d5=4 (-3,-7)

(K ! 6)2{ (37[})1: I’IC] Racjj7us: (X’fS) ’J’(ﬂTL?) _ 6”} Radius:

¢) ¥ —4x+y'-6y= Center: £) 2ty - ng —_99 Center:
(x-2)"- L[WL[EJ“%J -q=-4 (77_'5> X5 ._,0) f}w _-?C{ (-(9/}0)

(X’ ) ,}L(ﬂ _5) :Cj Ra%us: ' 7_+ (fj VIO) - ' Radius:




